Run 10994, integration on 12 samples

HG pedestal [ADC]

1.51 2
® :. O
. o
1.0 by N
g . ‘. Py
.... '. .. : 3 _2
0.5 ,‘.. (37 e °:$ P 3 e
— vy * Lot W, " —
E R e SLe TN oy *
~ OO— .. :’. ® v L | @
]
> 3 P f‘t. ....: .’ . —6
0.5 oY ’.:_.} o° oF.
—0. oo ] ’ ®
* 4 .f s P 1.:. -8
Poe . °°
3
~1.0- i 4
—10
—1.51 | | EngilneeringCIameraFrlame
-1.0 -0.5 0.0 0.5 1.0
X (m)
HG pedestal std [ADC]
1.51 36
- o
1.0 A .i.. 1 34
vt & .,’i. ‘.:
2.7 24 e A o 00 O¢
0.5 1 dre e RO .} o'$3 oo™ & - 32
’%n... ~:;~ A ;‘ :.:
€ ¢ Xy IR, 0':.. .} ‘Ju
i ]
— 0.0 .%..o.% 0’:. :..‘0. L 30
> @ ] [ B 2% o :.... .$‘
LTt 4l ko T
i ® ..1 Ne * ,. ®
-0.5 ... S Ar ‘. Sogq *¢ Y
".}o%. .° .: Ve $.o
& Voo I3 ) o
—1.01 Py B ‘%’ .
' $\'  § 26
—1.5- | | EngilneeringCIameraFrzlame
-1.0 -0.5 0.0 0.5 1.0
X (m)
BN HG Median -6.58, std 2.09
100 A
80 -
% 60 1
X
Q
40
20 1
-12.5 -10.0 -75 -=-5.0 -=2.5
HG pedestal
100 - BN LG Median -5.48, std 1.89
80 -
v 60+
v
X
Q
40 A
20 -
O_
-12 -10 -8 —6 -4 -2 0

LG pedestal

1.5

—1.51

1.5

1.0

0.5-

y (m)

—0.5 1

—1.0 1

—1.5+

80 1

70 -

60 -

pixels
D
o

20 -

101

O_

pixels

LG pedestal [ADC]

0.0 -

0
o ¢ )
@ @
P .. ‘ % .: ’.; L]
@ ®
..f. ..‘ P ..} J [ =2
' g o ¢ "‘.
KA ¥ 4 : t. s A
..‘o ......:"oo -
o @ L -
% “" ’. e s ...
o ¢ L —6
® & se R
«o ® .°.o . 2%,
o U P R
-8
WY
-10
| | EngilneeringCIameraFrlame
-1.0 -0.5 0.0 0.5 1.0
X (m)
LG pedestal std [ADC]
el 30
e, ® ““g'm C
L
3.¥ .’i%b :. | :.‘% 28
[ Lo Pt
ha .b.’.’. ] a We Sl o
) Sog | 200 el \ °
oy San oty ¥ oHibe ML
e bl MM Ay 26
}.ﬁ‘. .... a:.....:.h,
® ® @ *
Y :;‘o..i :‘: f“‘.o ::‘,:o
A g g w s ||
¢ e 3 % u‘% °
'.?: .:::Oo n:\::oh
% L) 2
_.,'. Ry o 22
.' ®
. . 20
. . Eng|lneer|ngCIameraFrzlame
-1.0 -0.5 0.0 0.5 1.0
X (m)
Bl Median 30.32, std 2.11

20 22 24 26 28
LG pedestal std

24 26 28 30 32 34 36
HG pedestal std
Bl Median 23.88, std 2.12

30 32



600

550 1

counts [ADC]

w N N Ul
Ul o (O] o
o o o o

w
o
o

250 1

200

600

550 1

counts [ADC]

w I N Ul
(0] ] o (O] o
o o o (@]

w
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o (0)] o
o o o o

w
o
o

250 1

200

600

550 1

w & ~ un
Ul o Ul o
o o o o

counts [ADC]

w
o
o

250 1

200

Run 10994, pixel 0

—— event 1001, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

—— event 1001, LG: RO
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---- offset
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Run 10994, pixel 0

—— event 1005, HG: RO
baseline correction

+ dt corr + corrected spikes

---- offset
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—— event 1005, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset
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